
 
 
September 1977 
 
Solve this sum: 
 

 
 
(Hints: Each letter is a unique number from 0 to 9 and D = 5.)  
 
 
Solve this sum:  
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April 1978 
 
Tricky phrases … what are they? 
 

 
 
 
 
 
 
 
 
 



 
January 1979 
 
 

 
Solve this riddle: Last week I turned off the light in my bedroom and 
managed to get to bed before the room was dark. If the bed was 10 feet 
from the light switch, how did I do it? 
 
 
 
 
 
 
 

 
 
 
June 1981 
 

 
 
 
 
 
September 1981 

 
Two coyotes from different packs were loping toward each other, 
each at 15 mph. When they were exactly one mile apart, the first 
coyote happened to stir up a roadrunner, who in his haste to flee 
ran directly toward the second coyote. No sooner there, though, 
he panicked and turned back toward the first, and thus back and 
forth he ran, until the last split second, when the coyotes, each 
intent on catching a morsel of roadrunner, crashed head-on into 
each other and the bird flew up and escaped. 
 
Assuming the roadrunner maintained a constant speed of 20 

mph, in whichever direction he was running, what was the total distance he ran before he escaped? 
 
 
 



October 1981 
 

A rope over the top of a fence has the same length on each side. It weighs 
one-third of a pound per foot. On one end hangs a monkey holding a banana, 
and on the other end a weight equal to the weight of the monkey. The banana 
weighs two ounces per inch. The rope is as long (in feet) as the age of the 
monkey (in years), and the weight of the monkey (in ounces) is the same as 
the age of the monkey’s mother.  
 
The combined ages of the monkey and his mother are 30 years. One-half the 
weight of the monkey, plus the weight of the banana, is one-fourth as much as 
the weight of the weight plus the weight of the rope. The monkey’s mother is 
one-half as old as the monkey will be when he is three times as old as his 

mother was when she was one-half as old as the monkey will be when he is as old as his mother will be when she is 
four times as old as the monkey was when he was twice as old as his mother was when she was one-third as old as 
the monkey was when he was as old as his mother was when she was three times as old as the monkey was when he 
was one-fourth as old as he is now. 
 
How long is the banana (in inches)? 
 
December 1981 (Santa) 
 

On a train at the end of a Christmas day run, Santa Claus comes walking through the cars. He 
is actually one of three crew members, Smith, Jones or Robinson, who in turn are (NOT 
necessarily respectively) the fireman, engineer and brakeman. Aboard the train are three 
businessmen who have the same last names as the crew: Mr. Smith, Mr. Jones and Mr. 
Robinson. 
 
The passenger whose name is the same as the brakeman’s lives in Chicago. 
The brakeman and fireman refused to be Santa Claus this year. 
Mr. Robinson lives in Detroit. 
The brakeman lives exactly halfway between Chicago and Detroit. 
Mr. Jones earns exactly $40,000 per year. 
The brakeman’s nearest neighbor, one of the passengers, earns exactly three times as much 
as the brakeman. 
Smith beats the fireman at billiards. 
 
What is the name of the man who is dressed as Santa Claus? 

 
December 1981 (Gift Exchange) 
 

Four men (John, Jim, Arthur and Bruce) and four women (Ellen, Mary, Hazel and Gloria) 
have a holiday gift exchange. Each man draws a woman’s name; each woman draws a 
man’s name.  
 
John drew the name of the woman who drew Jim’s name. 
Arthur drew the name of the woman who drew the name of the man who drew Ellen’s    
name. 
Bruce drew the name of the woman who drew the name of the man who drew Mary’s 
name. 
The man whose name Hazel drew did not draw Gloria’s name. 
Gloria did not draw Bruce’s name. 
 

      Who drew Arthur’s name? 



 

OSA President 1978 


